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’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.38 80.26) =t Llst |0.00 ~ 0.00| 1.62 8.66 s 1.00f 500 ~ 7.89 80.26) =h L4t | 500 ~ 7.89| 1.62 8.66
9 100kN/m##8 %% 1.00{0.00 ~ 1.19 117.96| 3m%x#B 25 = Kad = = —| 100kN/mM%#2Z % 1.00{ 1201 ~ 18.00 117.96| 3m%x#B 25 =l ~ - - =
s 1.00{1.19 ~ 8.97 100.00f Z=hkl4t |0.00 ~ 8.97] 2.13 11.42 s 1.00f 5.00 ~ 12,01 100.00| Z=hl4+ | 5.00 ~ 18.00f 2.13 11.42
3 100kN/m##8 %% 1.00{0.00 ~ 1.90 129.26| 3m%x #8225 = Kad = = —| 100kN/mM%#2Z % 1.00{ 10.63 ~ 18.19 129.26| 3m%x B2 5% =l ~ - - =
s 1.00/1.90 ~ 9.68 100.00f Z=hkl4t |0.00 ~ 9.68] 2.30 12.31 s 1.00f 5.00 ~ 10.63 100.00f Z=hl4t | 5.00 ~ 18.19] 2.30 12.31
4 100kN/m##8 %% 1.00{ 0.00 ~ 0.52 107.67|3m%x#B2 5 = Kad = = —| 100kN/mM%#2 % % 1.00{ 11.93 ~ 14.00 107.67| 3m%x#B 25 =l ~ - - =
ZHnLs 1.00/0.52 ~ 8.30 100.00f Z=hki4t+ | 0.00 ~ 8.30] 1.97 10.54 s 1.00f 500 ~ 11.93 100.00| Z=hl4t+ | 5.00 ~ 14.00] 1.97 10.54
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 5.34 66.61| =Lyt | 000 ~ 0.00] 1.71 9.13 s 1.00f 500 ~ 5.80 66.61| znllst | 500 ~ 580 1.71 9.13
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100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
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Fhst ~ st ~ FhLst ~ ZhLst ~
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